PPUH AUTO-HAK Sp.J.
Henryk 1 Zbigniew Nejman
ul. Stoneczna 16K 76-200 SLUPSK
POLAND
tel/fax +48 59 8 414 414; +48 59 8 414 413
e-mail: office@autohak.com.pl
www.autohak.com.pl

TOYOTA
=@ ©— COROLLA VERSO 5D, VAN (R1) Cat. no:

¥ 04.2004 = 03.2009 039

E20-55R-01 1344

D 86kN

R=1450 kg

AUTO-HAKX




4

13\M12x75 x2
14/M12x1,25x40 | x4
15\M12x35 x4
16|M 10x35 x2
17|M10x25 x2
18|M 8x35 x2
19|M 8x30 x8
20|M6x25 x1
219 13 x10
2|9 10.5 x6
23|p 8.5 x10
24|90 6.5 x1
250 12.2 x10
26|90 10.2 x2
27| 8.2 x10
28|10 6.2 x1
50 29|M 12 x4
@/ 30(M10 x2
31|M8 x8

X
N

a
il

Art.nr-BL1059

®] B8] (8] [of [=] [n] [o] [« [2] [«] [¥]

F







4x ﬁ M8x30mm

4x @8,4mm

2x @ 212 2mm
2x 213mm

1xﬁ M10x35mm

Ix @ 210,2mm
1x 210,5mm

4x @8,4mm

4x @ o8.2mm

4xM8

s

2x ﬁMlle,zsszOmm
2x @ 212,2mm
2xX 213mm

b, - 28,4mm
lxﬁMIOX%mm 4x @ 28,2mm
Aﬁ/‘ Ix @ Qlo’zmm 4x ..@% M3




12

1x 213mm
Ix @ 212,2mm

Ix @ M2

\
1x 210,5mm

1x & Mo

14

1x 210,5mm
1x M10

——— =

1xﬁ M10x25mm N s
Ix #10,5mm T

MS8x35mm
2x @ 28,2mm
2x 28,4mm

1x 6,5mm




2x #13mm
2x @ 212,2mm

2x M12

-10 -



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10

